2-5 Rational Functions

Find the domain of each function and the equations of the vertical or horizontal asymptotes, if any.

3
2.h(x)= X_=8
x+4
ANSWER:

D={x|x # -4,xe R};x=-4

x-6

4. = —
9(x) (x+3)x+3)

ANSWER:
D={x|x = -3,-5x¢c RB};x=-3,x=-5y=0

6.f(x) = x? -+ 8% 120
x—4
ANSWER:
D={x|x=4,xec R};x=4

(x—4)x+2)

8 =

9(x) (x+1x-3)
ANSWER:

D={x|x#3,-1,xe R};x=3,x=-1y=1

For each function, determine any asymptotes and intercepts. Then graph the function and state its

domain.
10. g(x) = (2x+3)}x-06)
(x+2)x-=1)
ANSWER:

asymptotes: x = 1, x = =2,y = 2; x-intercepts: —%.6: y-intercept: 9; D={x |x = 1,-2,x = [}
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2-5 Rational Functions

2
12.£() = — =
x(x—106)
ANSWER:

asymptotes: x =0, x =6,y = 0; x-intercept: —2; D={x | x # 0,6, x = [K}

f{.l’}= X432 E‘y

—6)

=

]

4
X
-‘f

[o]

4

L.
-

4
o

(x+6)(x+4)

4. h(x)= ——-
x(x=5)x+2)
ANSWER:
asymptotes: x =0, x =5, x = -2,y = 0; x-intercepts: —6, =4; D ={x | x # -2,0,5,x « [}
x=10
ﬁl 1
_ (x+6)ix+4)
Ha = XX= 50X+ 2) [ -
y=0} -
=1 ‘1l MSCHES
{x= —2paffex=5]

x(x 4+ 5)2(1: —4)
x% —5x —24
ANSWER:
asymptotes: x = —3, X = 8; x-intercepts: -6, 0, 4; y-intercept: 0; D ={x | x = -3,8,x « [&}
e 14
fx) = Wx 4 6)2(x = 4) ;qul

16.f(x) =

-y

=16 |- 16x

=3P =8

eSolutions Manual - Powered by Cognero Page 2



2-5 Rational Functions

X +6

18. @(x)=

ANSWER:

a
asymptote:y = 0; y-intercept: ——: D= {x | x € R}
e

Y

For each function, determine any asymptotes, holes, and intercepts. Then graph the function and state its
domain.

20. h(x) = == ;4
X

ANSWER:

4
asymptotes: x = 0,y = 0; x-intercept: —; D ={x|x # 0,x € K}
A

,_I_I_I_I_.m f
= 24

1:‘ x
Il
(=]
.

ST BT

2
x4+ 2x —15
22.f(x) = 5
x“+4dx+3
ANSWER:

asymptotes: y = 1, x = -3, x = —1; x-intercepts: 3, -5; y-intercept: -5; D = {x | x # -3,-1,x = [£}
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2-5 Rational Functions

3
24. h(x) = X
X 13
ANSWER:
asymptote: x = —3; x-intercept: 0; y-intercept: 0; D ={x | x # -3,x « [k}
N ol ||
J_:L_l._l_,

x= =3}

-t 14

2
xt—dx —21
x 4+&x"—5%—6

ANSWER:
. . 7
asymptotes: x = -1, x =2,y =0; hole: (=3, —1); x-intercept: 7; y-intercept: = D={x|x = -3,-1,2,x € [}

YTk T )

[x=—1 [x=2]
2 — ol
=2 10
2 Tl
*.“. ;.f[x}= 12-41—21
ﬁd x* 4 2xF —5x -6
28.f(x) = (x+4)x-1)
{x—1}x+3)
ANSWER:
asymptotes: x = -3,y =1; hole: [I.%J; x-intercept: —4; y-intercept: i D={x|x = -3,1,x « [&}
A
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